FOOR MAN'S JAMES BOND Vol. 1 1.24 FULLY AUTOMATIC WEAPONS

Complete Construction Plans
for the

MARK-1 SUB-MACHINE GUN
Scale Drawings - Parts List

1. (1) brl, cal. .45 blank ,750 dia

-----------------------------------------

2. (1) 16%" seamless tubing 1.250 1.D./ 062 wall {@ $1.25 ft.) — Approximately . .
3, (2) Aluminum bar 6061 or 2024 .1% diameter (3" needed per) @50¢ perlb. . . . .
4. {1)'%" wide x 1/8" thick iron strap @ $1.25 per 20’ — Approximately. ... ......
5. (2) %" wide x 1/8 thick iron strap @ $1.30 per 20" — Approximately ..........
B. (1)Steel bar (C/R or H. S, T ) 8% pr. .. ... o ittt iesnnnns P a e
7. (1) Steel Spring (diameter 1-1/8 10 1-3/16 X 10" 1ONE .+ .+ o v vv v rrnnnnnnn.
8. (1) 5/16" x 18" bolt (1-3/8"long) & nut............ v .
9. (1) 10x 32 Allen st screw W"'leng . . ......... e e eeanmaeaa e
10.(3) 10x 32 ovalhead 50rewW " JONE - .. vt nn e s ot ee s e enmcs e s

..........................

12, (2) Cotter pins 1/16" diameter %" long @15c for40pins. . .. ............ .
13, (1) 1/16" thick sheet-metal 34" x6"........ T

14. (1) 5/16" X 24" Bolt 18"  JONE . . o .o e v e eere et ee e e e e e eee e

15, (1) 5/8" wide x 4™ thick Steel Cold Rollor Hot Roll Steel . . ............... o
16. (1) Spring 3/8'' diameter x 3/8"" long..... Ph e si e ey docacbaanomooo o

17. (1) pin, %" long x 1/8"" diameter (Steel drill rod) . ... ............ e
18, (1) %™ x %" Square tubing (Steel with 062 wall) 2" per ..........c.ouvun..
19, (1) Woed 14" wide x 3 thick x 5" long, preferably hardwood, ...............
20. (2) Wood screws 1/8" diameter x 1 JONE . ..o iivr i ieii i e e i e c e
21. (1) Frontsight;make or buy. . .. ..o oot it e e et et aaraan v e

22, (1) Rearsight;meke orbuy . ....... ..ccvrurer i innrrannan.n e aaaeaa



SPRING SEAT

800 DIA. =25 DEEP\ \32

3.500

23500
<1200 OIA RELIEVED J' =

3.500

625014 2,003
./

i

%ha II\_

[

. s
1-256/_- . 3-‘5!-'"'-' \
DRLL &

Hse4
5>

2 NOTE: BREAK ALL SHARP EDGES

- 3/32 R
be— § —[\
TAP ANCLE- APPROY 45°
L -1/t FLAT
APPROX /16 WIDE

SPRING SEAT AT
BOTTOM OF KEYWAY-
I/8" DIk BY i/ DEEP-

/8" BACK

KEYWAY 1/8"WIDE
BY |/B"DEEP BY
I"!iz‘kﬂﬂﬁ

i DA =045 LONG
FULL RADIIS ON NOSE
a4 RADIUS AT BASE

RECESS 485 Dia
10 DEEF‘*-‘BE

RADIUS = LEAVE
LL TO KEY

Wk
% NTRAL LY LﬂEhTEl
iLL /i DA PIM HPLE

BREECH-BLOCK INTL-HRS/ C/HARDEN .010-.0iS DEPTH

RECESS ‘.-"ll' DEEE}" /8"

KEYWRY I/87WIDE
5/3F DEEF BY
32" LONG

EGS

ZI.'II:'I.[LLix LINE REA UIETH

Piq UBE

RETAINING PLUG-MTL 6061-T6 ALUM

N\ T

.235
*. 002

/1

ol 75

_}'

PART M h
376 DA T

D

ot

|

k3/a*

(I

RETAINING PLUG BOLT £NUT

S5Maxtf STL

(HEX HEAD)# NUT - SELF LOCKING

PURCHASED

I-1/8"
5l .- '_'.‘1

E:u /8 DIA {THRU)

3/
f&-‘*ﬂ; TPE

COCKING KNOB-MTL 5716 BOLT-STL

BTG PLANS SHEET Mo 1

YT RN T

LA TRINT SNINE [

1

SNOAYEM I LVROLAY L1104



WIDTH OF 8.550
F“Em 1.I2S BREAK EDGE [NEIDE § QUT
D45 ;m} /3T TO Hoa UNIFORMILY
'__=__l_'é_ l
C = 150 DIA-FULL

BRL THD ¥arle TPI

— CHAMEER TD THIS DEPTH
.15 FROM 38" LOADING COME

|+:ﬁsa-l

3

o

THRUST SPRING-STL-NON-FATIGUING (PURCHASE D)

*
MOTE: LENGTH OF SPRING # TENSION WILL HAVE TO BE
ADJUSTED - DEPENDING ON TYPE SPRING USED

JHOULD BE APPROX qi/2" LONG

ASSEMELY OF TRIGGER § SEAR IN PROPER RELATION
WITHIN ROUSING EMG BLANS SHEET Na_ 2

TTUA dNOY SHWYL S NYW H00d

1

9Z.1

SNOIYAM JIIV¥HOLOY ATINS



* EXTRACTOR, PIVOT PIN & SPRING (INT'L STEEL)

- - > .020 FLAT oN THIS
u EDGE (DO NOT MAKE

@ ’-‘:—iﬂ;l_i Tdﬁl. /| SHARP EDGE, ¥
. = _

et 165#  HEAT TRERT
050 TO 45-50 RfC

-DRLL THRU Oo3 DiA

NOTE? THIS PART MIGHT REQUIRE SOME HAND FITTING -
EJ‘;z'-afﬂ" LIF To SNAR INTO EXTRACTOR GROOVE [N EA&E}

JBEo02
i 1k RADIUS

(2)*EXTRACTOR PIN .062 DIA.».275 LONG (STL)

G)*EXTRACTOR SPRING .110-120 DIA. » 1/’ LONG

5/8" EJECTOR ASSEMBLY, MTL STL
L

© @ 5/32

Dl
u;a @.,;F ﬁ—f

570
(o T ¥
—-I /2 I-—
5LOT 0352
B LR THIS PART CAN BE MADE FROM
: THE SAME TUBING AS THE HOUSING
D (THE RADIVS WILL FIT
1 SCREW HOLES (3) () This parT OF (095) FLAT STOCK

hlﬂ'TED@

*NOTE: LOADING RRMP CUT

USE 12" END MILL
EXTRACTOR RELIEF
CUT 7/ DEEP{ % RAD)

o—— 2000 -
—=} 1. J25 =
Lol Ff
7 & Tl L2456
m;f—; ! > l
. i BTS  — "« NOTE

THIS SERIES OF HOLES (4) NOTE: DRILL THRU WITH &3/32”
LOCATED 90" APART — THE THREADED SECTION WHLL
Slclelinm e, LI i

. . _ —BUT SUEFICIE
SCREW AND HAS TO BREAK THRU. £AS EGUTA
() DET Hip-32

LOADING RAMP £ BARREL ALIGNMENT PLUS- MTL G06I-TS AlLUM

IS
HARDENED OR CASE/HARDENED AS

41‘19:!1 THi5 MANKEE ]
o o *¥)
)

[—5 POT WELD IN PLACE

N\

EME PLANE SHEET M, 3

"TOA ONOH SIWYL S NVW g00d

T

LT

SNOIYEM OILYWOLOY ATINg



SEAR, SEAR PIVOT PINS #SPRING
STL MILD if2"=1f2”

@

i

Ui
—

SPRING
1o DIA X 332 DEEP

SE

i

30" §

343

S5

S

O

14
1

-
| GZ25 —am

e
|

1

i

\~

50

ORLL(F},257 THRU

;

Y4
__@L-J;_l_t *
[

ar

| @fy TO BE CfHARDENED {5/ 24 BOLT)
I

—LOCATE CENTER ¢ DRILL THRU 4 TAP 5/|6n 24

NOTE: THIS DIMENSION MAY HAYE TO BE ADJUSTED

Ly

YO

AFTER ASSEMBLY

Vi

L

i

2" FLAT [SEAR ENGAGEMENT) AT

SLIGHT ANGLE-SEE ABCOYE

see NOTE AgovE (1)

250
o

TRIGGER-MTL-ALUM &06&! FLAT SLK

- e _
L
e /;:-P RERRI875 THRo fiG DRILL THRY
i“" I"-'ﬂ'-"f * —m 415
T g a e N f
P : I
NIES it
R
2-ifg" JB7 - -_,IE?' .
55 L5950 —- 187
J } | (&Y COTTER PINS \f2! fnix DIA,
- (1) SPRING PURCHASED
Badiants e :Ilﬁt'ﬂ-"nlh x 5/8" LONG

BREAK SHARP EDoLS

EJECTOR - /16" THICK SKEET METAL. CAN BE CUT FROM SAME MATERIAL
AS HOUSING, AS RADIUS MATCHES

BEND DOWM ALONG DOTTED LINE 9a®

(3) CLEARANCE HOLES FOR 6-32 SCREWS, APPROY IN THE ABOVE
LOCATIONS. S5CREW LENGTH FRoM HEAD /8" LONG,

G PLAME THFET Mo_ 4

"IOA ONOH SHWVL S+NVW d00d

1

B 1

SNOdYIM DILVHOLOV ATI0N4



MAGAZINE HOUSING, MTL.062 SHEET METAL

e & G502 005 ——|

ilte RADIUS TO
MATCH HOUSING D,

MAGAZINE RELEASE, STL.

|| |1 4 x5/ 8 LONG, CUT
—+ THIS HOLE AFTER
Y| 12 WELDING TO MAGAZINE

/ PORT

CORMERS 36 R

APPROK 062 WALL T

4 .
i.1452 005 I-%a

INSIDE
DIMENSION
g 1

= |. 535005
INSIDE
DIMENSION

1
247 e
218705
iR
L.O95
I

"-H

WILL WORK VERY WELL
CONSTRUCTED M THIS
THIS MANNER , BY SPOT
WELDING PLATE ALONG

SIDES (FULL LENGTH)

Hl: EE.
Nkt

EW—L-—-! -_5_"‘.*5“

-—-j:.‘m o
THIS EXTENSION TOD S
AB7T WIDE

250 —wd | _f'fﬂ
SPRING SEAT .
5 DIA » \1( DEEP I/’ DIA THRU
SERRATE
THLS AREA

NOTE: CAN BE MADE FROM
H4x3/4 S0 TUBING

ASSEMBLY OF MAGAZINE
HOUSING ¢ MAGAZINE RELEASE

@tr PROBABLY WILL BE NECESSARY
T4 0o S0ME ADJUSTING OR

HANDFITTIMG HERE T GET

THE PROPER FIT, AND AMOUNT

OF ENGAGEMENT — BUT ONLY
AFTER MAGAZINE HOUS|
BEEM WELDEDR TO H;Iiju_ﬁla':ﬁ;fma

S,

O

b —
T__‘

SPOT WELD

AFTER SPOT wWELDING
THESE (£) PARTS TOGETHER,
BREAK THRU BOTH PARTS.

SPRING DIA 2812010

_ [T
(BOTH ENDS] MG PLANS SHEET No. &

TTOA TR SIS S sIW T MF0O0T

T

SHNOIYEM OTAVFWOLNY ATT1S



FULLY AUTOMATIC WEAPONS

130

1

POOR MAN'S JAMES BOND Vol.

| 280, —IBTS
A Y s

&Y 5
o 1 4.000 Lﬁ

1D

s \
Ye'x Va {2}

o1

</

o

1658 LONG

NCTE: To SCALE- LSE

DRAMING AS TEMPLATE

TRIGGER ¢ JEAR

HOUSING

NOTE: SUB-AS5Y WIH
FILLET 4 SPOT WELDS

gy

B . .vw\.ﬂ £

dIAT3234 § DMNISOHOH YI9T1HL
ONINOILISOd HOd SNOISNIKIQ

"373M noA.
/SN HILYM HLIM
gI3M LodS HI¥3
JINTING Noll¥olsig
/ITWINM o1 3605135
: N/MOQ d33X OL

BNISN NIHM ISYIHY
¥0 710 RLIM JLNIHE0
A’ OFZ71 AR INOTLH
TIVANY W ¥ INIHIVW

3415 HIVI 53w
5'33%7d NI 013M 1odS




P - —
[
|
b
-
!
i g R
) 3 -f 5¥$F¥EE. Z
—% q..q;lft-pm.,[.;.u.-.uﬁ e puu e 1aP For /,u
- ﬁ‘ HLL 'a
NE LONG g W signe poLT —
!
FRONT
Iq_rﬂ. VIEW
» SHOULDER STOCK ATTACHMENT - STEEL o8 ALLM | U
s K
sy Wl WELD AOTH
i"l'l""-'ﬂm ENDS ( @
2.0 e st
el
|~ —>
1 /
f 90"
R
R ———
e

o

POSITIONING OF
MAGAZINE HOUSING

*TOA (TNOE SFWY <, MY SOOI

G MLANS SHEET Mo 7

SNOJIYIM JTIVWOLOY ATINd

T

TET



